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Floms B TR et | B | e | oo | | B |y | e e | B2 e | e
1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00] 000 ~ 6.75 85.31] #huis 000 ~ 675 1.62 8.18 ZThLLSE 1.00] 500 ~ 870 85.31| ZhLls | 500 ~ 870| 1.62 8.18
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00[0.00 ~ 6.29 79.08] #hklst 1000 ~ 6.29] 1.57 7.92 Zh LS 1.00|] 500 ~ 8.17 79.08] #hList | 500 ~ 817| 157 7.92
3 100kN/mM##8Z % -l -~ = -|3mZz#Bz3| - ~ - - -| 100kN/mMZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00{0.00 ~ 6.67 84.17] #huis |]0.00 ~ 6.67| 157 7.94 Zh LS 1.00| 500 ~ 901 84.17] #hklst | 500 ~ 901| 1.57 7.94
4 100kN/mM#%# 8% % 1.00/ 000 ~ 1.66 12547|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.54 ~ 16.40 125.47|3m%i#B% % = ~ = = =
Zh st 1.00[ 166 ~ 945 100.00] Zh st | 000 ~ 9.45| 235 11.90 Zh LS 1.00|] 500 ~ 10.54 100.00| Zh it | 500 ~ 16.40| 2.35 11.90
5 100kN/mM#%# 8% % 1.00/ 000 ~ 1.37 120.80|3mZi#BZBH| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.99 ~ 16.40 120.80(3m%i#B% % = ~ = = =
Zh st 1.00[ 137 ~ 9.16 100.00] Zh st 000 ~ 9.16] 2.23 11.26 Zh LS 1.00] 500 ~ 10.99 100.00| Zh it | 500 ~ 16.40| 223 11.26
6 100kN/mM#%#BZ % 1.00/ 0.00 ~ 3.09 149.22|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.67 ~ 26.30 149.22|3m%#BZ% = ~ = = =
Zh st 1.00{ 3.09 ~ 10.87 100.00] #h st | 000 ~ 10.87| 2.82 14.24 Zh LS 1.00] 500 ~ 10.67 100.00f Zh it | 500 ~ 26.30] 2.82 14.24
7 100kN/mM#%# 8% % 1.00/ 000 ~ 188 129.03|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.74 ~ 18.60 129.03|3m%#BZ % = ~ = = =
Lot 1.00] 1.88 ~ 9.67 100.00| ZhList |0.00 ~ 967 2.27 11.48 Zh st 1.00f 500 ~ 10.74 100.00f Z1list | 500 ~ 18.60| 2.27 11.48
8 100kN/mM##BZ 5 1.00{0.00 ~ 1.88 129.03|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.74 ~ 18.60 129.03|3m%E# %% = ~ = = =
ZnLst 1.00] 1.88 ~ 9.67 100.00| ZhList |0.00 ~ 9.67] 2.27 11.48 Zhn st 1.00f 500 ~ 10.74 100.00f Z1list | 500 ~ 18.60| 2.27 11.48
9 100kN/mM##B % % 1.00{ 0.00 ~ 233 136.33|3ImZEEZ 5D ol ~ - = —| 100kN/mM%#8 % % 1.00{ 10.67 ~ 21.60 136.33|3m%E X5 =l ~ - - -
Zrn Lot 1.00f 2.33 ~ 10.11 100.00f Z=hList | 0.00 ~ 10.11] 2.61 13.19 st 1.00f 5.00 ~ 10.67 100.00f ZH1list | 5.00 ~ 21.60| 2.61 13.19
10 100kN/mM##BZ % 1.00{0.00 ~ 253 139.61|3m%EHE %% -~ = = -| 100kN/ %z % 1.00| 10.54 ~ 22.00 139.61|3m%E#B %% = ~ = = =
ZnLst 1.00] 2.53 ~ 10.31 100.00] ZH L4t | 0.00 ~ 10.31| 2.68 13.53 Zh st 1.00f 500 ~ 10.54 100.00f Z1List | 500 ~ 2200 2.68 13.53
11 100kN/mM##BZ 5 1.00{0.00 ~ 0.37 105.42|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00] 11.30 ~ 12.34 105.42|3m%E#B %% = ~ = = =
ZnLst 1.00{ 037 ~ 8.15 100.00] Zh L5t | 0.00 ~ 8.15] 2.39 12.10 Zhn st 1.00f 500 ~ 11.30 100.00f Z1List | 500 ~ 1234 2.39 12.10
12 100kN/mM##BZ % 1.00{0.00 ~ 0.37 105.42|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00] 11.30 ~ 12.34 105.42|3m%E#B %% = ~ = = =
Zhn Lot 1.00] 037 ~ 8.15 100.00| #1List |0.00 ~ 8.15] 2.39 12.10 Zzh st 1.00f 500 ~ 11.30 100.00| Zh it | 500 ~ 12.34] 2.39 12.10
13 100kN/mM%#EZ % = -~ = -|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ 5 -~ = = =
Zn Lot 1.00{ 0.00 ~ 740 9442 ZnList 1000 ~ 7.40| 1.70 8.60 Zh Lot 1.00f 500 ~ 9.71 9442 #hblls | 500 ~ 9.71| 1.70 8.60
14 100kN/mM%#EZ % = -~ = -|3mEEZD -~ = = —| 100kN/ %8z 5 = -~ = -|3mZEiEZ S -~ = = =
Zhn Lot 1.00{ 0.00 ~ 6.25 7854 znh st | 0.00 ~ 6.25| 1.69 8.56 Zh Lot 1.00f 500 ~ 7.32 7854 Zh st | 500 ~ 7.32| 1.69 8.56
15 100kN/mM%#E% % = -~ = -|3mEEZD -~ = = —| 100kN/ Mm%z 5 = -~ = -|3mZEiEZ S -~ = = =
LS 1.00/ 000 ~ 6.64 83.73] #hList | 000 ~ 6.64] 1.68 8.48 ZThLst 1.00] 500 ~ 8.10 83.73] ThLlst | 500 ~ 8.10| 1.68 8.48]




